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RESIT MELGRHNIAHEETE

1 SEE
ASCHFRE TR Sy /R AT RS R B IAT S R LG . PSR DA S = AR A (AU A
YBE I MTAE A S A E L E T A

ARSI T AR E T ORISR WE B3 AR AN ] 2008 ) AN BE 2 MU . DU SO U 5 DA S =1k
FEGRARE IO E BT AR R A 2 JE

ASSCAEANE T B2 A B S 0 2 B W Al R AN o LT E
2 SIRxXH

AN SO R A AR A SO RS L AR A SO AN T DR 2k, e, i HIA 5 L SCF,
A% HUX B BCARIE T A SO AR BRSSO, oA (B4R i B es) T4
.

GB/T 27418-2017 M AN 22 & 11 IR
GB/T 27419-2018 M B AH & BEVEE MR R #h e SCfb Ll BT S RIE B i 1%
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3 RiEHE&A
I HNARIE RN E SGE AR S
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AFHERE  uncertainty

MEAMERE measurement uncertainty; uncertainty of measurement
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LA R P A AR GTRY S R 23, G- B L BN e A BT (BT ) i B UM E E . AP A vt
MRS ARNEBIE, e U AT E R AR,

FE2: L SHIT AR TR AR A BRI B AN 1 PR 2 (SR A5 50, U B T B i X TR S

FES A & — ey T B, o — S AR — RS IR (ST, el A E AT E B T
SE, FEAIIFREZERAL. 17 —L8o BN AR B0 s HAlS BTSRRI R B, FR IR A S BISE HEA TP AE,
W BRHEZERAL.

AR, M —AEREE, WEATE RS HIN T PR TRl B ER), AR SRS S0 B A LAY

32
FRAETRTREE standard uncertainty
DABRHE 2= 227 1 N 2
33
A BRERTEE combined standard uncertainty

HE — 0 AR v 2% AR ) s O A f A PR RS 0 i 1 B A v I B AN 2

34
¥ BAHEE expanded uncertainty

B BRI AN S — SRR RC T R,

3.5
F45Fi& 5% Monte Carlo method

A 3 AR R 2311 T BEATL AL T HEA T 0 11 A 4R D95

3.6

NMHrEE Bayes' Theorem
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3.7
O/RAT RS K T % Markov Chain Monte Carlo
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SALES ERm ARy AR AN E AR R S AR E RO FE R R B (i) FIAE I RS b A
HIABRSE B (v) , PASGREAEDN B AU B VAR AT E e (v) . EdfldsEdmAR (b, »
AR A EEY=F (x) W, RN A G R ARy 53R TR 2 MR AR B SO 1 e
x=F' (y) WHx, ks bEF (y) PN RECZEEWAR (6, p) W@ EEGRI, GRS
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5 BRESWMERIHEERITE

51 RESITH—ARTE

AT RIBEATIS, — e JeE T bR Y AR i — R VAR RE ¢ A~ (Bl i=1,2, ..., ¢q) ,
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H B RR R B .
5.2 u(x)BitE
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5.3

u(x;) = Xty , (7)

u()F0 u(y) it E
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WREIATINISE m AFATTHE. B TREEEINE ok, RGN (10) RIS R u(y) -

O D>,y
u(y):\/% S

mn—1 (10)
K,

As——55 s DFATTHES t U 5 o 02 AN g i [

|

——m AT TR TREE S I E n YISHI A R i W (A S -1 s
54 uxHyitE

RGeS . SO ERL A . IS A SRR REM S RS AR (6, ») #
SR RE Y =F (x) , REEEEEDN RS _E RN y IR F AR x=F (v) R X FO(p)
PN RECEE A MA R (x, yi) W EBESEN, WRAFGEY (6, ») My ERmAR, F!
(v) ATPABRE R x=S (xi, yi, ¥) , WRWAHEELRER, xoFRHERE u (xo) FTLAES (11) 15

u, = \/(%) g +Voxg %oV ox+ (ATRER B AE U, u, )

dyO (11)

HTERECS (v, pi, y) BERMIEXEZ:, MR g 07 30 B/R n RS R BT, R
{5 WL Ff 5% A~D.

55 UMITE
By R T =2, NGRS HTEE R R & Ea = (12) THE.
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RATTIARAE Cry3A 5 R it ERIB S B R X0 8 i AE A /KPR B PR A TG, B an & A
Y 6 DIKFRITMER Rz FIARERN 2E, B IR ROPR IR A 2 Wk, B R AR 6 K.

A2, IWER

BEIR G BE AT SRS R AR A1 P,

% A1 Cry3A BRRBEHBC SR B 2 Hriston) S 2 2R

FEZFE  WE ng/mL W't W2 G R~ IME
=] 0 0.162 0.178 / 0.1700
FrifE 1 0.25 0.235 0.235 / 0.2350
FRifE 2 0.50 0.296 0.285 / 0.2905
FrifE 3 1.00 0.405 0.441 / 0.4230
FRifE 4 2.00 0.624 0.623 / 0.6235
FRifE 5 4.00 0.891 0.974 / 0.9325
0.267 0.277 0.276
TRE 1 / 0.2650
0.259 0.259 0.253
0.449 0.434 0.463
e 2 / 0.4480
0.445 0.450 0.446

A.3. u(xi), u()F u(y)BYitE
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u (n) REAKTRRERRIORIERE, — MO bR TR SRS, RS v YL I A 2
JiE 0 A AT R v 0 O RS W /R B A T P 1L . 3o el A s s R R
ERu, MR (A1) 15

(A1)

K u,  NE j RIS R TR AR AT E B V), 3 j IR RSIR (8 FHIAS s 1 ) T
B DA MRER i e 2 I S P ) EL VR

HIAR TR 505 | ARSI G 1y, iRAESN (A2) TTERL

A,

Uepyy —RHERSTIE s A9 A & 5

PREDI IS PR R S T, B kg, =2

kCRM
Hh R A REIE AT R S00uL A A EREA 3.4uL, RIU,, =34 UL, ey, =1.74L.

BMARES R B xi AR ERE u () RN (A3) T

2
u(x)=x, (MC;RM) +u§’r (A.3)

X0
A x, AR AREY BT s o x, =500,
FRUEA R 2 R, IR (A4) TR E A E R

A —A
”(y,) — | max min | (A4)

Jic

XA Amax A Amin 73 HUAPIRIBOEEEME SR, [ IRREL, =2 CHRZERLL, 2 NRMNE
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RN 1.128,

AR 6 Y, IR (ALS) TSP ER A E

i i (Ast - j)2

— s=1_t=1 A5
u(y) N p— (A.5)

X, A TREECRE, m=1 W B TREEZ IR, n=6; A THESHARBOCEMELTR, 4 )
TR AR

AR RV, ARAERER AR A C) u ) Flu Q) R AT T

FRUEVATR uCa) VS E RN

u(xy) —xg\/T 4#/0.17=0.4

u(x,) —X4\/8x 5’07) +0.72=2\/8x(£7)2+0.72 =0.20023

1.7 2 1.7 2 _
u(x;) _xg\/5x 500) +0.7 7\/6x 500) +0.12 =0.10023

u(x2)=xg\l4x(5;;) +072—05\I4x(70;) +0.12 = 0.05017

U(Xz)=x7\12><(5;;) +072—025\lzx () +07 = 002512

FRAEZIR T Q)T IS RATE

|0.1778 — 0.162,

u = T 0071003
(o) 1.728x 2
) 0235 0238 _ - o
u =——F=0.
Vi 1.728x /2
(v2) 10296~ 0.2831 _ ;, s06896
u = = U
Yz 1.728x 2
0.447— 0.40
u(ys) 10447 = 0403 _ 7257

1.128x /2

10
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u(y,) = 2822= 9823 _  povs269

YO = 2ex4z

u(v2) _logra—oson _ .
V) = 2ex2

ety u(y) THEERAR:

—\  _1.|0.0022+0012 + 00117 + (= 0.006)? + (—0.006) + (—0.012)*
u (yz) =7 ; = 0.004020

— 7 (00072 + (00197 + 00152 + (—0.003)? + 0.002? + (—0.002)?
(v2) =7z 5 =0.003825

AR RV, AR R IR RO uO) FluQ) TSR L RA2,

RAL2 FREARARREfuC), ) Flu (v) THHER

FEm AR b u(x) X u(y) y u(y)
2 0 0 0.1700 0.01003 / /
FRifE 1 0.25 0.02512 0.2350 0 / /
FrifE 2 0.50 0.05017 0.2905 0.006896 / /
Bt 3 1.00 0.1002 0.4230 0.02257 / /
FrifE 4 2.00 0.2002 0.6235 0.0006269 / /
FrifE 5 4.00 0.4000 0.9325 0.05203 / /
Rl 1 / / / / 0.2650 0.004020
FEih 2 / / / / 0.4480 0.003825

A4, u)FN URIHE
it PythondmfeitHu (x) , RELLF:
import numpy as np

import matplotlib

11
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matplotlib.use('TkAgg")
import matplotlib.pyplot as plt
import emcee
from scipy.stats import norm
# Wi
x_data = np.array([0, 0.25, 0.50, 1.00, 2.00, 4.00])
y_data = np.array([0.17, 0.235, 0.2905, 0.423, 0.6235, 0.9325])
u_x_data =np.array([1e-6, 0.02512, 0.05017, 0.1002, 0.2002, 0.4000])
u_y data =np.array([0.010029883, 1e-6, 0.006895545, 0.022567238, 0.000626868, 0.05203002])
y0 =10.2650
u_y0=10.004020
#OE LR
def linear_model(x, a, b):
returna *x +b
# S SONER R AL (FIE x My ABRE)E)
deflog_likelihood(theta, X, y, yerr, xerr):
a, b, log_f=theta
model = linear_model(x, a, b)
sigma2 = yerr**2 + (a * xerr)**2 + model**2 * np.exp(2 * log_f) # W& x AEE
return -0.5 * np.sum((y - model)**2 / sigma2 + np.log(sigma2))
# 58 L Jcm A
def log_prior(theta):
a, b, log_f=theta
if-5.0<a<0.5and-0.5<b<1.0and-10<log f<1.0:
return 0.0

return -np.inf

12
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# & SUa %o
def log_probability(theta, x, y, yerr, xerr):

Ip = log_prior(theta)

if not np.isfinite(lp):

return -np.inf

return Ip + log_likelihood(theta, x, y, yerr, xerr)
#MCMC &#E
nwalkers =32
ndim=3 #a,b,log f
nsteps = 5000
# PR A
initial = np.array([0.1, 0.2, -3]) #a, b, log_f FI¥IIA{E
pos = initial + 1e-4 * np.random.randn(nwalkers, ndim)
# QIR AR

sampler = emcee.EnsembleSampler(nwalkers, ndim, log_probability, args=(x_data, y data, u_y data,

u_x_data))
# 51T MCMC
sampler.run_mcmc(pos, nsteps, progress=True)
# RIUFEAS
samples = sampler.get_chain(flat=True)
# PRI a Al b AUREA
a_samples = samples|:, 0]
b_samples = samples[:, 1]
# R u_y0 KW XF yo BEFTHiAE
n_y0_samples = 1000

y0_samples = np.random.normal(y0, u_y0, n_y0 samples)

13
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# Haafe x0 AEA

x0_samples = np.array([])

# XA y0 BEA, TTEE x0 BT
for y0_sample in yO_samples:
x0_samples = np.concatenate([x0_samples, (yO _sample - b_samples) / a_samples])
# T8 x0 ATIEE
x0_mean = np.mean(x0_samples)
x0_std = np.std(x0_samples)
print(f"x0 = {x0_mean:.4f} +/- {x0_std:.4f}")
# AL
#1. MCMC SREEHE
fig, axes = plt.subplots(ndim, figsize=(10, 7), sharex=True)
labels = ["a", "b", "log_f"]
for i in range(ndim):
ax = axes|[i]
ax.plot(sampler.get_chain()[:, :, i], "k", alpha=0.3)
ax.set_xlim(0, len(sampler.get chain()))
ax.set_ylabel(labels[i])
axes[-1].set_xlabel("step number")
plt.suptitle("MCMC Sampling Trace")
plt.tight layout(rect=[0, 0.05, 1, 0.95]) # % T/, WEpbrdiES
plt.show()
#2. JaB oA
fig, axes = plt.subplots(ndim, figsize=(10, 7))

labels f— [Hall’ Vlbll’ Vllog_fV]

14
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for i in range(ndim):
ax = axes|[i]
ax.hist(samples[:, i], bins=50, density=True, color="steelblue", edgecolor="black")
ax.set_xlabel(labels[i])
ax.set_ylabel("Probability Density")
plt.suptitle("Posterior Distributions™)
plt.tight_layout(rect=[0, 0.05, 1, 0.95])
plt.show()
#3.x0 HJa5 A
plt.hist(x0_samples, bins=50, density=True, color="steelblue", edgecolor="black")
plt.xlabel("x0")
plt.ylabel("Probability Density")
plt.title("Posterior Distribution of x0")

plt.axvline(x=x0_mean, color="red', linestyle='--', label=f'Mean = {x0_mean:.4f}")

plt.axvline(x=x0_mean + x0_std, color='green’, linestyle='--', label=f'Mean + Std = {x0_mean + x0_std:.4f}")
plt.axvline(x=x0_mean - x0_std, color="green', linestyle='--', label=f'Mean - Std = {x0_mean - x0_std:.4f}")
plt.legend()

plt.show()

#4. HARE

plt.figure(figsize=(8, 6))

plt.errorbar(x_data, y_data, xerr=u_x_data, yerr=u_y_data, fmt="0", label="Data")

# i FEA R G2

nsamples_plot =100

inds = np.random.randint(len(samples), size=nsamples_plot)

for ind in inds:

a, b, log_f=samples[ind]

15
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y_fit =linear_model(x_data, a, b)
plt.plot(x_data, y_fit, "C1", alpha=0.1)
# il A2

a_best, b_best, log_f best =np.mean(a_samples), np.mean(b_samples), np.mean(samples[:,2]) # fi F}>
EEAE R E A T

x_fit = np.linspace(np.min(x_data), np.max(x_data), 100)

y_fit=linear model(x_fit, a_best, b_best)

plt.plot(x_fit, y_fit, "r-", linewidth=2, label="Best Fit")

# bRt x0 (8

plt.axvline(x=x0_mean, color="k", linestyle="--", label={"x0 = {x0 mean:.4f} +/- {x0_std:.4f}")
# 2t yO B E X

plt.axhspan(y0 - u_y0, y0 + u_y0, color='gray', alpha=0.3, label="y0 Uncertainty")
# 220 yO By

plt.axhline(y=y0, color="k", linestyle=":")

# It

plt.plot(x0_mean, y0, marker="t', color="k', markersize=10)

plt.xlabel("x")

plt.ylabel("y")

plt.title("Linear Fit with MCMC")

plt.legend()

plt.grid(True)

plt.tight layout()

plt.show()

IR IR R A SR A AL IR, RE AT 4528 x = (0.3960 + 0.0371 )ng/mL, Bl x (HIAHE u(x)=
0.0371 ng/mL, B R T k=2, W JRAHA 2 BE U=2x0.0371=0.075 ng/mL, {RE 1745 5 7] PAFE 7R 7 (0.396
+0.075) ng/mL,

16
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Linear Fit with MCMC

— Best Fit

—=—- x0=0.3960 +/- 0.0371 |
y0 Uncertainty
# Data

1.2 1

FIAT ARE LA AT AR
TSR R & T PRV IV B o, X SRR I VA B BN o B T A o M
AWHELE, W 2N AR AT EBE, B u(x) WBCEN 108 ng/mL, HERHMREAREL L4521
WK A2 R, REETES S x= (0.3883 +£0.0346) ng/mL, B x HAARHE u(x)=0.0346 ng/mL, H

PR T k=2, WY A E R U=2x0.0346=0.070 ng/mL, {FE/ TR AT LAZIR A (0.388 £ 0.070)
ng/mL,

Linear Fit with MCMC

— Best Fit

=== x0 = 0.3883 +/- 0.0346
y0 Uncertainty

# Data

1.0 1

0.8 1

0.6 1

0.4+

0.2 4

FIA2 AR LI AT 45 R [u(xi) =0]

17
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LIS SR A B A3 Fs, IR TS R x =(1.2379 + 0.1314)ng/mL, Rl x (HIIAHHE u(x)=
0.131 ng/mL, Bd BT k=2, W BARHEE U=2x0.131=0.27 ng/mL, RFESTEE R AT RN (123 +
0.27) ng/mL,

Linear Fit with MCMC

T
]
124 |
i
1
i
1
1.0 ;
0.8 -
%
0.6 1
0.4 T
]
]
i —— Best it
| --- X0 =1.2379 +/-0.1314
0.2+ ! y0 Uncertainty
! # Data
1

T T T T T
0 1 2 2 4

F A3 SRR AT AR
AR ) G A AR BV W B R, X AR B VA O B AN S St TR 4 W
AHERE, WZMHFRER IR AT E R, B u(x) BIEN 10 ng/mL, JEIEEEAE L E LG 45201
WK A4 R, TSR x= (1.2291 £0.1078) ng/mL, Bl x [HAYAHIE u(x)=0.108 ng/mL, HL
PR T k=2, M3 AR E B U=2x0.108= 0.22 ng/mL, kL0 4s B ] PAZER H (1.22 £ 0.22) ng/mL,

Linear Fit with MCMC

= Best Fit

=== x0=1.2291 +/-0.1078
y0 Uncertainty

10 # Data

0.8 4

0.6

0.4 4

0.2+

T T T T T T T T T
0.0 0.5 10 15 2.0 25 3.0 3.5 4.0
X

FIAA THE IR ST R () =0]
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MiEx B MSHHSRESNERIHE ERITE RG]

(FHHE)

B.1. EWA*
A A1,
B.2. XWEAR
Al A2,
B.3. u(xi), u(y)FA u(n)RyitHE
7] A.3.
B.4. u(x)1 UKJiItE
L Python et 5w (x) , AURSENT:
import numpy as np
import matplotlib
matplotlib.use('TkAgg")
import matplotlib.pyplot as plt
import emcee
import corner
from scipy.optimize import curve_fit

from scipy.stats import norm

# Define the four-parameter model
def four param_model(x, A, B, C, D):

return D + (A - D) / (1 + (x/C)**B)
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# Define the log-likelihood function
deflog_likelihood(theta, x_data, y data,u x_data, u_y data):
A, B, C, D = theta
model = four_param_model(x_data, A, B, C, D)
sigma2 =u_y data**2 + (B * (A - D) * (x_data**B) * u_x data/(C**B * (1 + x_data/C)**B)**2))**2

return -0.5 * np.sum((y_data - model)**2 / sigma2 + np.log(2 * np.pi * sigma2))

# Define the log-prior function
def log_prior(theta):
A, B, C, D = theta
if not all(0 < value < 10 for value in [A, B, C, D]):
return -np.inf

return 0.0

# Define the log-probability function
def'log_probability(theta, x_data, y data, u x data, u y data):
Ip = log_prior(theta)
if not np.isfinite(lp):
return -np.inf

return Ip + log_likelihood(theta, x_data, y _data, u_x data,u y data)

# Define the data
x_data = np.array([0, 0.25, 0.50, 1.00, 2.00, 4.00])
y_data = np.array([0.17, 0.235, 0.2905, 0.423, 0.6235, 0.9325])

u_x_data = np.array([1e-6, 0.02512, 0.05017, 0.1002, 0.2002, 0.40007)
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u_y data = np.array([0.010029883, le-6, 0.006895545, 0.022567238, 0.000626868, 0.05203002])
y0 = 0.2650

u_y0 = 0.004020

# Initial guess for the parameters

initial_guess = [0.169915, 1.064054, 6.244783,2.156547] #A,B,C,D

# Maximum likelihood estimation (MLE) using curve_fit

try:

popt, pcov = curve_fit(four param_model, x_data, y data, pO=initial guess, sigma=u_y data,

absolute_sigma=True)
A _fit, B_fit, C_fit, D_fit = popt
print("MLE Fit Parameters (curve_fit):")
print("A =", A_fit)
print("B =", B_fit)
print("C =", C_fit)
print("D =", D _fit)
except RuntimeError as e:
print(f"Error during curve_fit: {e}")
A fit, B fit, C fit, D fit = initial guess # Fallback to initial guess

pcov =np.eye(4) * le-6 # Dummy covariance matrix

# MCMC setup
nwalkers = 32
ndim =4

nsteps = 10000
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burnin = 2000

# Initialize the walkers
rng = np.random.default rng()
initial = np.array(initial _guess)

pos = initial + le-4 * rng.standard normal((nwalkers, ndim))

# Create the sampler

sampler = emcee.EnsembleSampler(nwalkers, ndim, log_probability, args=(x_data, y data, u_x_data,

u_y data))

# Run the MCMC sampler

sampler.run_mcme(pos, nsteps, progress=True)

# Discard the burn-in samples

samples = sampler.get_chain(discard=burnin, flat=True)

# Analyze the MCMC results

A _mcmce, B meme, C_ meme, D_mcemc = np.mean(samples, axis=0)
print("\nMCMC Fit Parameters:")

print("A =", A_mcmc)

print("B =", B_mcmc)

print("C =", C_mcmc)

print("D =", D_mcmc)

# Corner plot
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corner.corner(samples, labels=["A", "B", "C", "D"], truths=[A_fit, B_fit, C_fit, D_fit])
plt.suptitle("MCMC Parameter Distributions", y=0.98)
plt.show() # Display the corner plot

plt.close()

# Function to find x0 and its uncertainty, now including u_y0
def find_x0(y0, u_y0, samples, x_data, num_y0_samples=100):
x0_values =[]
A_samples = samples]:, 0]
B_samples = samples|[:, 1]
C_samples = samples|:, 2]
D_samples = samples|:, 3]
rng = np.random.default rng() # Use a random number generator
for A, B, C, D in zip(A_samples, B_samples, C_samples, D_samples):
# Sample y0 values from a normal distribution
y0_samples = norm.rvs(loc=y0, scale=u_y0, size=num_y0 samples, random_state=rng)
for y0_sampled in yO_samples: #Iterate over the sampled y0 values
# Use a root-finding method to solve for x0
def equation(x):
return four param_model(x, A, B, C, D) - y0_sampled
# Providing a bracket around the root can help the solver
x_lower = min(x_data)
X_upper = max(x_data)
try:
from scipy.optimize import brentq

x0 = brentq(equation, x_lower, X_upper)
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x0_values.append(x0)
except ValueError:
# If brentq fails (e.g., no root within the bracket), return NaN
x0_values.append(np.nan)
except Exception as e:
print(f"Error during root finding: {e}")
x0_values.append(np.nan)
x0_values = np.array(x0_values)
x0_values = x0_values[~np.isnan(x0_values)] # Filter out NaN values
if len(x0_values) == 0:
return np.nan, np.nan # Return NaN if no valid x0 values are found
x0_mean = np.mean(x0_values)
x0_uncertainty = np.std(x0_values)

return X0_mean, X0 _uncertainty

# Find x0 and its uncertainty
x0, ux0 = find_x0(y0, u_y0, samples, x_data) #Pass u_yO0 to find x0
print("\nx0 =", x0)

print("ux0 =", ux0)

# Plot the data and the fit
plt.figure(figsize=(10, 8))

plt.errorbar(x_data, y_data, xerr=u_x_data, yerr=u_y data, fmt="0", label="Data")

# Plot the best-fit curve

x_fit = np.linspace(min(x_data), max(x_data), 100)
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y_fit=four_param_model(x_fit, A mcmc, B mcme, C_mcme, D_mcmc)

plt.plot(x_fit, y_fit, label="MCMC Best Fit")

# Plot x0 with crosshairs

if not np.isnan(x0):
plt.axvline(x=x0, color="red', linestyle='--', label=f'x0 = {x0:.3f}")
plt.axhline(y=y0, color='green’, linestyle="--', label=f'y0 = {y0:.3f}")
plt.errorbar(x0, y0, xerr=ux0, yerr=u_y0, fmt="+', color="purple', markersize=12, label="x0 Uncertainty')

plt.xlabel("x")

plt.ylabel("y")

plt.title("Four-Parameter Fit with x0")

plt.legend()

plt.grid(True)

plt.show() # Display the fit plot

plt.close()

# Plot MCMC samples
plt.figure(figsize=(12, 8))
for i in range(ndim):
plt.subplot(ndim, 1,1+ 1)
plt.plot(sampler.get chain()[:, :, i], color="k", alpha=0.3)
plt.ylabel(f"Parameter {['A', 'B','C', 'D'|[i]}")
plt.xlabel("Step Number")
plt.suptitle("MCMC Sample Traces", y=0.98)
plt.tight layout()

plt.show() # Display MCMC traces
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plt.close()
# Plot posterior distributions
plt.figure(figsize=(12, 8))
for i in range(ndim):
plt.subplot(ndim, 1,1+ 1)
plt.hist(samples[:, i], bins=50, density=True, alpha=0.6, color="skyblue")
plt.xlabel(f"Parameter {['A', 'B','C', 'D"|[i]}")
plt.ylabel("Density™)
plt.title(f"Posterior Distribution of Parameter {['A', 'B', 'C', 'D'][i]}")
plt.suptitle("Posterior Distributions of Parameters", y=0.98)
plt.tight layout()
plt.show() # Display posterior distributions

plt.close()
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+0.042) ng/mL.,
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MR C ZREFHEMERESITERIHEERITETRE]

(FHHE)

KWHE
A A1,
KR
Al A2,
u(xi), () u()RIIHE
7] A.3.
u()Fn U Kt
L Python et 5w (x) , AURSENT:
import matplotlib
matplotlib.use('TkAgg")
import numpy as np
import matplotlib.pyplot as plt
from scipy.interpolate import CubicSpline
from scipy.optimize import brentq
import emcee
import corner

import seaborn as sns

# WE seaborn AR

sns.set(style="whitegrid")
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# 58 SR

x_data = np.array([0, 0.25, 0.50, 1.00, 2.00, 4.00])

y_data = np.array([0.17, 0.235, 0.2905, 0.423, 0.6235, 0.9325])

u_x_data =np.array([1e-6, 0.02512, 0.05017, 0.1002, 0.2002, 0.4000])

u_y data =np.array([0.010029883, 1e-6, 0.006895545, 0.022567238, 0.000626868, 0.05203002])
y0 =0.2650

u y0=0.004020

n_params =13 #6x real, 6y real, 1 yO true

def log_prior(theta):
x_real = theta[:6]
y_real = theta[6:12]

y0_true = theta[12]

# ffix_real/2 i
if not np.all(np.diff(x_real) > 0):

return -np.inf

# THR AR
log p=0.0
# x_real 1 G560

log_p +=np.sum(-0.5 * ((x_real - x_data) ** 2/ (u_x_data ** 2)) - np.log(u_x_data * np.sqrt(2 *
np.pi)))

#y reall 55
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log p +=np.sum(-0.5 * ((y_real - y_data) ** 2/ (u_y_data ** 2)) - np.log(u_y_data * np.sqrt(2 *
np.pi)))

#y0_truelfy Sl

log p +=-0.5 * ((y0_true - y0) ** 2 / (u_y0 ** 2)) - np.log(u_y0 * np.sqrt(2 * np.pi))

return log_p

def'log_probability(theta):
Ip = log_prior(theta)
if not np.isfinite(lp):

return -np.inf

x_real = theta[:6]
y_real = theta[6:12]

y0_true = theta[12]

# i = AR
try:

cs = CubicSpline(x_real, y_real, extrapolate=False)
except:

return -np.inf

# 58 SORTFXORT R %L
def func(x):

return cs(x) - y0_true
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x_min = x_real.min()

x_max =x_real.max()

f min = func(x_min)
f max = func(x_max)
except:

return -np.inf

if np.sign(f_min) == np.sign(f _max):

return -np.inf  # AR

# SRR
try:

x0_val = brentq(func, x_min, X_max)
except:

return -np.inf

return Ip

# IR AR O B

n_walkers = 50

def generate initial positions(n_walkers):

initial = np.zeros((n_walkers, n_params))
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for i in range(n_walkers):

valid = False
while not valid:

x_real = x_data + np.random.normal(0, u_x_data / 10)

if np.all(np.diff(x_real) > 0):

valid = True

y_real =y _data + np.random.normal(0, u_y data/ 10)
y0_true = y0 + np.random.normal(0, u_y0 / 10)
initial[i] = np.concatenate([x_real, y_real, [y0_true]])

return initial

initial _positions = generate_initial _positions(n_walkers)

# iz TMCMC

sampler = emcee.EnsembleSampler(n_walkers, n_params, log_probability)

# Burn-in

print("Running burn-in...")

n_burn = 1000

state = sampler.run_mecmc(initial positions, n_burn, progress=True)

sampler.reset()

# JOREE
n_steps = 5000
print("Running production...")

sampler.run_mcmc(state, n_steps, progress=True)
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# ARBUEAS

samples = sampler.get _chain(flat=True)

# THEXORY FF IR REA

x0_samples =[]

for theta in samples:
x_real = theta[:6]
y_real = theta[6:12]

y0_true = theta[12]

try:
cs = CubicSpline(x_real, y_real, extrapolate=False)
except:

continue

def func(x):

return cs(x) - y0_true

x_min = x_real.min()

x_max =x_real.max()

try:
f min = func(x_min)
f max = func(x_max)

except:
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continue

if np.sign(f_min) == np.sign(f max):

continue

try:
x0 = brentq(func, x_min, X_max)
x0_samples.append(x0)

except:

continue

x0_samples = np.array(x0_samples)

# Fifrx0_samplesi2 {5 R4S
if len(x0_samples) == 0:

raise ValueError("No valid x0 samples found.")

# VHEXORY s AL BRI AN E B
x0 median = np.median(x0_samples)

ux0 = np.std(x0_samples)

# i xORI(E
print(f"Median x0: {x0 median:.4f}")

print(f"Estimated uncertainty u_x0: {ux0:.4f}")

# ATIRALXO/ 5 58431
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plt.figure(figsize=(10, 6))
plt.hist(x0_samples, bins=50, density=True, alpha=0.6, color="blue")
plt.title(fPosterior Distribution of x0\n $u_{{x0}}$ = {ux0:.4f}', fontsize=16)
plt.xlabel('x0', fontsize=14)
plt.ylabel('Probability Density', fontsize=14)

plt.show()

# il A i 2
plt.figure(figsize=(10, 6))

plt.errorbar(x_data, y_data, xerr=u_x_data, yerr=u_y_data, fmt="0', color="k', label='Data with Errors')

# T SRR AR 1Y il 2

for 1 in np.random.choice(len(samples), 100):
theta = samples][i]
x_real = theta[:6]

y_real = theta[6:12]

try:

# P =R AR E

cs = CubicSpline(x_real, y_real, extrapolate=False)

x_plot = np.linspace(x_real.min(), x_real.max(), 100)

y_plot = cs(x_plot)

plt.plot(x_plot, y_plot, color='gray', alpha=0.1, label='"Posterior Samples' if i == 0 else None)
except:

continue # WIRIGHE RN, BhailiztEa

# 2224 P AL X0
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plt.axvline(x0_median, color="r', linestyle='--', label=f'Median x0 = {x0_median:.3f}")

plt.axhline(y0, color="b", linestyle="--', label=f'y0 = {y0}")

plt.plot(x0_median, y0, 'rt', markersize=15, markeredgewidth=2, label="x0 Position')

# ISR ANAR2
plt.xlabel('x’', fontsize=14)
plt.ylabel('y', fontsize=14)

plt.title('Spline Fits with MCMC Uncertainty', fontsize=16)

# U E

plt.legend(loc="upper left', fontsize=12)

# A R

plt.tight layout()

# EREE

plt.show()

# i F corner % il 2800 J5 43 1
corner_labels = [f'x_real {i+1}' foriin range(6)] + [f'y _real {i+1}' foriin range(6)] + ['y0_true']
corner.corner(samples, labels=corner_labels, truths=np.median(samples, axis=0))

plt.show()

MBI =R AR E R A EE R A C1 FR, il 4R x = (0.387+£0.056) ng/mL, HJ x {HiY
AHE u(x)=0.056 ng/mL, HJRET k=2, WH EAHMHE R U=2x0.056=0.12 ng/mL, &5 Hr45 R ] DA
F5H (0.39 £0.12) ng/mL.,
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Spline Fits with MCMC Uncertainty
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IR =R FEAR T E P AL R A C3 iR, RMEEAHTEE R x= (1.09+0.15) ng/mL, B x{H
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